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1. Answer the following questions (any ten) :
1x10=10

Tofq oPPTRd el fort (R et w)

(@) What is social indifference curve?

AifeE Fers @2 2

(b) Define property rights.
TAE] eI g ey |

(c) What is monopoly power? .
GO THRR NI & 2
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(d) What is product differentiation?
A Reserd e & 3um 2

(e) Define saddle point.
el R sigen faa |

(/) What is payoff matrix?
AfSn (e &2

(g9 In what type of market we get
asymmetric information?

FH RN I@ES SRS A1 *fRALA (IR
JE 2

(h) Give an example of positive externality.

G’ =F AT Trrzaer 7 |

() What is first-degree price
discrimination?
oW TR W1 Reew gferea & gom 2

() What is the basic difference between
oligopoly and duopoly?
THR@FOR IR HF EIR @R 5O
+ffF F2

(k) What is shutdown point?
werRT Ry &2
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( 3)

() Define cartels.

T 379K A< 73 |

(m) What is exclusivity?
3z s & w2

(n) Write one difference between private
goods and public goods.

IfETe T SF BIFIRA G TS GB1 103
foram o

(o) State Bertrand’s model of oligopoly.
IRE ST THRCEFOR IWR{T ©GCOl TS 41 |

2. Answer the following questions (any five) :
2x5=10
©ord PP Ted ferar (R crean #iiobr) -

(a) Define Pareto efficiency.

CoIC0” JereTord ke |

(b) Write two features of public goods.
A G5 o1 ¢y for o

(c) How does concentration ratio determine
degree of monopoly power?

AT FPCS GICHHA IWRE <& 1l
@Ay [ReR 332
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(4)

(d) What is ‘two-person zero-sum’ game?
W2-fE *F-erga’ o= 2

() What is meant by signaling in
a market?

IHRA AFS e B @ ?

(f/ Distinguish between production
efficiency and exchange efficiency.

T wrel wIe REgw weor Twe 219w
feran

(g9 What are minimax and maximin
strategies?

‘e’ e ‘G’ e 2

(h) What is third-degree price
discrimination?

ToN TR 73 Reonia’d 2

3. Answer the following questions (any four) :
5x4=20
T PTYRR T foran (R crean wif<on) -

(a) Explain how efficiency can be achieved
in exchange through Edgeworth box
diagram. )

e ey AP, BAg 7R R vFer @0
AR A1}, I F1 |

22A/1119 ( Continued )



BIKALI COLLEGE LIBRARY
(5)

(b) Briefly explain the causes of market
failure.

WWW‘T’T{{WW-WI

(c) Explain the concept of excess capacity
under monopolistic competition.

GIEFE  IGRS Sl SfelRe  =FIorR
YIFCOT I 470 | '

(d) When is price discrimination possible
and profitable? Explain.
] Reotied @it 7157 9IF oows W2
RIS SN

(e) Explain the concept of Prisoner’s
Dilemma.

FIRR7I] RYR YI—ECET AT [T |

(/) Distinguish between perceived and
proportionate demand with the help
of a diagram.

o 7@ weRfre W SRS BIfRR
YIREIICOT 1T 341 |

(g) Explain how the growth of monopoly
power can lead to market failure.

GO0l IHY S ASE @] ITR (TR
8 IR, IRA A
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th) Do you think monopolist always
earns supernormal profit? Justify
your answer.

oo IWRA Rz wm ek @
WEA FCAA 7 (SR TER] IS o |

4. Answer the following questions (any four) :
10x4=40
S 2Py Bed o (R et wif¥by) -

(a) What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

Teame smifde @1 (4. 9. a%.) 7 Seama
FWfel @R TFe e Rea &em
wHFORd IRI AIIR? AT FATEY  4RIR
o oo fordt |

(b) State and explain Coase’s theorem.
What are the limitations of Coase’s

theorem? 6+4=10
IH'Y TGO! IE HF P IFq | G2 YRIR
AaRmerez & &2

(c) How can monopoly power be controlled
and regulated? Explain. 10
GFCHOA IWRA =S @Femd g e afRkfds
R N2 Jr=m F1 1
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(7))

(d) Explain how prices and output can
be determined under monopolistic
competition in the short run and
long run. 10

GIEIR IGRS W4 HEF T TIIES WF
TS @eE e 3T onfI, e 34

(e) Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

3303 TeA19 "o SRR SIfRCG1 < T4 |

() Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory? 2+6+2=10

F G oI e o @b w3-fE -
QST 49 (FCII Y FRI AR, Jrm
41 | ({5 ©GI FICTRIAR SEd 41 1

(g9 What is information asymmetry? How

does information asymmetry affect

- business? Give two examples of

markets where information asymmetry
prevails. 2+6+2=10

AR SRSl F? PN PSR IERS
R gSR R ? YO SPAR SIS o
BESEACGESCR Tl
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(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10
BT IWEe @ @1 W eI 9,
THA I | SEHOF GRS W ReeneId
CFTS T8 YIREICHT WA AT |

(i Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

o1 fom vk gl 2at que Rcsrd
| GIOOA IS (@GR S AqS A,
Ao P |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10
THNGFOR J@RE  IRGS W c?mwﬁ
SN ol I 14 (ST |

%* % %k
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